
FACIT     LOGIC 
 

4 books in a bookshelf. No. 1 to the 
left and no. 4 to the right. Each book 
is 8 cm thick, with pages covering 7 
cm and each cover ½ cm. 
A worm is eating it’s way from page 1 
in book 1 to the very last page in 
book 4. 
How many cm has been eaten by the 
worm 

17 cm 

The Loch Ness monster is measuring 
40 meters + half it’s own length. 
What is the total length of the Loch 
Ness monster ? 

80 m 

Who is the only person on earth, who 
is responsible for the death of 25 % of 
the world’s population ? 

Kain 
(killed Abel) 

A tree double’s it’s height every year 
until, it after 10 years, have reached 
it’s total height. How many years did 
it take the tree to reach half it’s total 
height ? 

9 years 

If 8 men can dig 8 hole’s in 8 hrs. 
Can 1 man then dig 3 holes in 3 hrs. ? 

Yes. 
Though they 
are smaller 

 


